Opérations avec deux fractions mixtes (I)

Nom:

w

9]

10.

Date:

Calculez chaque résultat.

41i7+sg=
5%+11—51=
Lxs? =
50432 =
53425 =
5%><11—77=
53 +20 =
sEx1l =
52 +17 =
5%—4%:

Note:
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Opérations avec deux fractions mixtes (I) Réponses

Nom: Date: Note:

Calculez chaque résultat.

4 .6 _72 46 _ 72 8 _ 576 _ 288
17 ~ 8 17~ 8 17~ 46 782 ~ 391

1 5 16 16 16 11 176 11

2T =T T 3% T T 3 T
1 2 3 22 66 33
P laxsyp =Xy = g T T8y
, s8.53 4 146 4 184 23 .8
8 8 4 8715 120 15 15
. 5f+23 _ﬁ+@_396+160_556_@_72
8 "9 8 9 72 72 72 18 18
651X17_21X24_ 504 _126_77
4 17 4 17 68 17 T 17
751+2§_1_6+§_224+108_332_@_79
3 714 3 14 42 42 42 T 21 21
5 1 50 5 250 125 17
soogxlgz = 9X3 T 3% T3 T
; Sg+15_ﬂ+2_666+2z4_890_@_7i
S 77 18 7 18 126 126 126 63 63

o 52_gd _ 3253 _3%2 318 _ 34 17
76 11 6 11 66 66 66 33
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